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&
e FM,RM ] }
In L(ﬁ): S |n(nl+l = b In(nij !)+Zb:nu In(pu)
i=1 | j= =
InL(p) = y In(n,, b In(nij !)+Zb:n., In(p.,)
i=1 | j=1 =
a b a b
) Azgénu(ln ﬁij)_génu(ln ﬁ'l)
. dev(RM) = 2§a:§b;nij (Inp; —Inp,)
i=1 j=1

(Deviance) 108/136

@FM RM
( )

a a b nn;
i+n

b R . b ni_
>, (In p, —In pij)=222nij Inm—‘=222nij In -
- :

j i=1 j=1 ij i=1 j=1

o dev(RM) df=(a-1)(b-1)

dev(RM) = Z_Za:

+]

e dev(RM) >z (df @)

o (0[,3 )ij -- FM
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3 4 n..
dev(RM)=2> > n,In—
i=1 j-1 i

0 43— o922 11t

43.46 39.77 29.33 9.84
+471In ail +32In 22 +1llni+ 6Ini
33.92 31.04 23.36 7.68

19 22 33 7 }

:2x{40m

+191In +22In———+33In + 7In——

28.62 26.19 19.71 6.48
=25.63 > *{(3-1)(4-1)=6,0.05} =12.59

3
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FM,RM

p= Pr{;(2 > dev(RM )}
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C;g C - C C
N =N 4N 4t 4+t = > N
Bl i Mide oo i ij+ ij1 ij2 ijk ijc ; ijk
b
B2 |n121 N122 -+ N12c
N : Mk = Mg T Mgyt Ny = Znijk
ey
B [Nip1 Nip2 - Nipc 2
By |No11 Magp - Noge N = Ny + Ny AN+ Ny = znijk
i1
B2 [n221 N222 -+ N2c b ¢
. : Miy = Migg + Mg AN+ AN = Z Miji
i—1 k=1
B |[nap1 Nop2 -+ N2pc ) X o
N =Nyjp + Nyt ANy -0y = Zznijk
i—1 k=1
a b
B1 |Na11 Ma12 -+ Maic N, = Npgye +Nygy oA M-+ Nyy = Zznijk
B2 |NMa21 Naz2 -+ Naxc ==
a | . : : : a b ¢
M=y + Nyt ANy ANy = Z Miji
B [Nab1 Nap2 - Napc i=1 j=1k=1

3.2.1 -2 112/136

AL A2 -~ A | B By - Bp|C C - C

Ar | N1++
Ay 0 no4s

Aq 0 0 o Ngyst

B1 | N11+ N21+ -+ Nags | Neg+

B2 |ni2+ M2+ -+ Naze| O nipe

B [nip+ Nops - nNapte| O 0 o0 (lafm

C1 | Ma41 N241 o+ Nae1 | N411 N421 -+ Nipl [ Nes1

Co [N+2 N2e2 - Naw2|Ne12 Mizz o M| O Ny

Cc [Nisc Masc = Marc|NMitc Mipc o Mypc| O 0 o Niic
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L]
o
dev(RM)=6.09 > z°(1,0.05)=3.84
o (A category )
o 1 dev(RM)=0.86
o A2 dev(RM)=0.79
L]
(Simpson’s Paradox)
3.2.3 3 116/136
Piix = Bjjr + Byjo+ -+ Py T+ Py = Z Piji
k=1
b
Pisk = Pik T Pigk -+ Pije T+ Pipkc = Z Pijk
-1
ijk Piik = Pujk + P+ Bij t -+ Paic = Z Pijk
Pijk = —— b o
n Pivs = Piags T Pia T+ Py -+ Pie = ZZ Pijk
=1 k=1
Pijr = Prji + Pojot -+ Py -+ Py = zz Piji
i—1 k=1
a b
Piik = Prak T Pook T+ P+ -+ Pak = ZZ Pijk
io1 j-1

b

1= Py + Prp o P+ Pape = ZZZ Piik

a
i=1 j=1 k=1
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P, FM(Full Model)
In piJ'k = e +IBJ 7 +(aﬁ)ij +(a7/)ik +('B7/)jk +(aﬁ7/)ijk

118/136

Inpijk=ﬂ+ai+ﬂj+7k+(aﬂ)ij+(a7)ik+(ﬁ7/)jk (a )ijk

° 3

In pijk :ﬂ+ai+ﬂj+7k+(aﬂ)ij+(a7)ik jk )i'k

I py = +a+ B+ 7+ (aB), +(Br), (@ refn)y

Inpy =p+a+pB+y+(ar), +(Br), (ap ik
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® X
X X
(=)
Inpijk::u+ai+ﬂj+7k+(a7/)ik+(ﬂ7)jk
C
&
|B|C
120/136
& | |

Pr(ANB|C)=Pr(A|C)xPr(B|C)

Bijk _ Piix o P, i«
p++k p++k p++k
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In pijk:y+ai+ﬁj+7/k+(ﬂ7)jk
()
1 BC ( )
Pr(ANBNC)=Pr(A)xPr(BNC)
Piik = Pit X Py
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Inpijk=y+ai+,b’j+7/k

Pr(ANBNC)=Pr(A)xPr(B)xPr(C)

Pik = Piss X Pyju X P
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® 2
&
=
Inpy = u+a+ B +y +(ap), +(ay), +(aBr),
In pijk :ﬂ+ai +IBJ +7/k +(a,6)u +(a7/)ik +(’By)jk
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@ FM 0o 050 1/2
eRM FM
e RM
3 (RM1-RM2)
edev(RM1,RM2) =dev(RM2) —dev(RM1)
P
op 0.30 RM1 RM2
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& (CDA)

o % N.dat
3

o =+ T dat
& CSV( )

° *** N.csv
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-N.dat
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-T.dat
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39,16,22, 9,86,11,25, 3
8, 3, 5, 3,10, 3,87, 5

CSV
-N.CSV
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